SN
=

=
5 UARE0 SFE 8 EH2s FF

UAPNE=E0n

(=& &)

YADNRE= I 5,111,948 9,652,332 24,540,384
= 836,860
= 4,275,088

T HHBR(LUDIEF/AYL LB 1,683,397 0 1,683,397

ARE10 SF& L8 HdH2s FH 1,683,397 0 1,683,397

NEEHHRFE 1,683,397 0 1,683,397

308 XX/ £+ HI SOI & 1,683,397 0 1,683,397

08 JIEtEE S 1,683,397 0 1,683,397
ON63 MISAIXLHN ZHl L AAZH 1,683,397

SHEO HO L KXATASHUNDTIHT/ s 3,274,055 9,588,877 £6,314,822
= 813,391
< 2,460,664

FORXAS U TOSEPS 255,834 6,455, 106 26,199,272
= 43,114
= 212,720

T AR HME A 124,200 218,800 A94,600

201 2 Br2 | 20,000 26,000 26,000

01 At 22l 16,000 12,000 4,000
OXXYE =Y X7 16,000

03 & A2 H| 4,000 14,000 210,000
OYNU=EC 2Y 4,000

202 OfHl 18,000 18,000 0

01 LG 18,000 18,000 0
oYY PLEF U Al - 2 BoH22 18,000

203 YR =] 55,000 70,000 215,000

CEES e 55,000 70,000 15,000
OXXYE ANHEZ 55,000

301 YPB A 31,200 24,800 6,400

10 BAMHIRA S 30,000 24,800 5,200
oY== 29 20,000
OR18L HHEY HA &4 10,000

12 J|EtE 4= 1,200 0 1,200
oUAM=ZNC OiYRIX 29 1,200

O - 8% ADIZE L SAHY 46,000 49,000 23,000

201 US| 15,000 18,000 23,000

03 A2 b 15,000 18,000 23,000
©O0ISX OIS 0H3 15,000

202 O1H| 1,000 1,000 0

01 2LHoiHl 1,000 1,000 0
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=L'E

=EE

PAPNE=E )}
CEEN =0 2 XY

SFOAXAE ¥ oSS

1,000

SN EIEEES

307 21240I & 30,000 30,000 0

02 IHB LSBT 30,000 30,000 0
O0IEZIES 2% 245 N 30,000

NYBIB DY BAKX 7S 8,520 8,520 0

201 LBt | 8,520 8,520 0

01 At 221 Hl 8,520 8,520 0
OANTE(73) 8,520

6.25 @M LRI ANFY(2D) 43,114 39,021 4,003
2 43,114

101 @l 24| 15,800 12,939 2,861
= 15,800

04 J12ZtHI22XEaE+ 15,800 12,939 2,861
©6 - 258 W L6 WARY QA 15,800
2 15,800

201 LErS Y| 19,000 18,082 918
= 19,000

01 At2 22l 19,000 18,082 918
©6- 258 M LI JARY 2| 19,000
= 19,000

202 01t 8,314 8,000 314
= 8,314

NETETT 8,314 8,000 314
06 5HM YR WY Ol 8,314
2 8,314

gox TS5 X4 34,000 0 34,000

201 et Y| 15,000 0 16,000

03 A2 15,000 0 15,000
OZHBs U Yst= YAIM AL 15,000

202 01t 4,000 0 4,000

NETNT 4,000 0 4,000
OMREA gRET 4,000

303 Z43 15,000 0 15,000

01 243 15,000 0 15,000
OMNSPEHA L2 AN 10,000
OUSHE YAIM BAUS MY 5,000

QIZHEHH S3 &0 X3 1,225,000 1,254,850 229,850

ASI St BEs X 807,000 815,000 A8,000

201 LErS | 8,000 8,000 0
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9l DIRIEN SHEO KIS EEREN

01 ALl 8,000 8,000 0
OMIEH 2x3 X&MLY 8,000
OAMSIHHNEES X3AMY B2DE 3,000
O AZIZ Q144 2,000
OEZx= oI 3oas ¢ 3,000
202 O Hl 3,000 3,000 0
01 =W oLl 3,000 3,000 0
OMBSHXH HR2FA 3,000
203 PR FAH| 5,000 13,000 28,000
03 A FXHRFAHI 5,000 13,000 28,000
ORIzt - ALSIEHH ANBYR =& 5,000
307 2I2tol ™ 791,000 791,000 0
0B MEEHHEES 791,000 791,000 0
OABIEtH Sgs 32 1d 710,000
OAEI e 22H] XI](I2USES) 81,000
MOIEXNEX 4 204,000 190,000 14,000
307 2Iztol & 40,000 20,000 20,000
02 BIZtH A E R 20,000 0 20,000
OFMOIEIt31I A XI& 20,000
04 U2SHAES X 20,000 20,000 0
OZATMOIEXEZXHE Mzl XI& 20,000
308 At XXM SO0 & 164,000 170,000 26,000
01 IXSHBAEEES 164,000 170,000 26,000
OMOIESXT A RHAEES 164,000
Hgelgztety sdgs N 148,000 173,550 225,550
201 LEr2H]| 20,000 20,550 A550
01 AL 22l 20,000 20,550 A550
OHETRICHA 2 10,000
OZHLIRS ZAN & BE&EE M 10,000
202 O Hl 3,000 3,000 0
01 =LA 3,000 3,000 0
oHlge|gtHH X HRFN 3,000
307 @120l ™ 125,000 120,000 5,000
02 A2FHEX 125,000 120,000 5,000
ORIFEE LAXNHs o S228 XA 25,000
OZ XA XICtEs 29 XA 100,000
ESHH § TEE02S 245 66,000 70,300 24,300
201 2Er2 | 5,000 10,800 25,800
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01 Al el 5,000 10.800] 25,800
oNl4=5ols ooy &It 1,000
OEBTH ALK 4,000
202 O/t 2,000 2,000 0
T T 2,000 2,000 0
OESTAUNE A2EH 2,000
301 2B A3 7,000 5,500 1,500
10 BAAHEAS 7,000 5,500 1,500
ONl4=5ols ARCIUHE HIIKE 7,000
307 Q12HOI & 52,000 52,000 0
02 INHBNDE 52,000 52,000 0
ONlA=LATIE SLAY K 35,000
O0I=BENS A 2 10,000
OUEYII 01255 MU &It 7,000
NGANSES 2 HRASAELS 1,106,611 1,221,655 A 115,044
2 476,967
= 629, 644
FORKME BHS =2 47,500 54,700 A7,200
201 QErS | 7,000 2,900 4,100
o1 A E e bl 2,000 500 1,500
OFORK 2% BHEH =X 2,000
03 #ALS bl 5,000 2,400 2,600
OFLXAIME SAS0l2l A3 5,000
202 01| 1,000 1,000 0
NETER 1,000 1,000 0
OXUXISY BAHE HPEH 1,000
01 YErEAD 1,500 800 700
10 BAABIZA S 1,500 800 700
OXUXKIME SASOI2 HATHS 1,500
303 Z&3 20,000 20,000 0
NETE 20,000 20,000 0
OFUXXIME SAS0r2l FOATHS 20,000
308 XX EHHISOI® 18,000 30,000 A12,000
01 HXSHBLEED 18,000 30,000 A 12,000
OFUINX 2 BH X 18,000
MEDAZY UBEANRHN 2= 1,000 2,000 A1,000
202 0t 1,000 2,000 A1,000
TETTT] 1,000 2,000 A1,000
OMEIUIY P2FT 1,000
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SH9l: XIS ASI S8
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T NFSMME BH5 =7 412,000 412,000 0

202 OfH 2,000 3,000 21,000

01 2U 0t 2,000 3,000 21,000
OXREA 845 A2EA 2,000

307 2I2+O| & 410,000 409,000 1,000

02 QItHAE X 410,000 409,000 1,000
OF NASAMHE 2% L AYEX 330,000
OXRSA DIL2IXIA 2 15,000
OLRATXHRAZARITH S 20,000
OXNYEA 24T28 2435 XA 25,000
OHAURREAESOI2 |4 X 20,000

N2 HFZSASE XA 150,000 204,300 254,300

308 XHXISHXI S 0| & 150,000 203,000 253,000

01 IXSHBAEES 150,000 203,000 253,000
OAN -2 NASAN Z2Ia 29 X 150,000

XREAF 2O0UI0IEA XIR(2D) 382,880 350,363 32,517
=2 363,736
[ 19, 144

307 QI2HOI & 38,288 35,036 3,252
2 19,144
[ 19, 144

2 BILAMBE 38,288 35,036 3,252
ONEA 2CIHIOIEH X 38,288
=2 19,144
[ 19,144

308 XX SHHISOI & 344,502 315,327 29,265
‘ 2 344,592

01 I SHIAEES 344,502 315,327 29,265
OX=A ACIUIOIE X 344,592
2 344,592

NRASAX 282 X(2D) 113,231 173,292 260,061
=2 113,231

308 XHXI EHXI S0 & 113,231 173,292 260,061
2 113,231

01 IXCHRIZBAEXR 113,231 173,292 260,061
OXNREAEEE X 113,231
= 113,231

DHLEMHIA KB 643,610 595,266 48,344
= 293,310
[ 350,300

DUCHEMNY ABAS FT 38,100 23,300 14,800
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M RXZHD
o CHEG B L HXAVUSH LI T /ABHT)
ol DBASHHIA KIS EERED

DEXHESRE 29 X 37,000 0 37.000
201 Y2 H| 20,000 0 20,000
01 At 22/t 20,000 0 20,000
OnEXeIfARE 2¢ 20,000

202 01t 7,000 0 7,000

01 2ol 7,000 0 7,000
ONEXZIFARNS LREX 7,000

301 ¢etEAS 10,000 0 10,000

10 BARIHI B A S 10,000 0 10,000
onsoy IO S 10,000

AOIMEES 2 HEN &2 43,000 0 43,000

SEANEZZES 248 X3 43,000 0 43,000
201 Q2| 12,000 0 12,000
01 AR 22l 8,000 0 8,000

OSEAYIE +AMEE N 8,000
O#AMR I HIF 7,000
Onl=tl 1,000
03 #AI2 | 4,000 0 4,000
OIS ¥ 3L 4,000
202 01t 10,000 0 10,000
01 =AY 10,000 0 10,000
osgAYIEREES £ 10,000
206 X 2| 500 0 500
01 W24l 500 0 500
OAB S R4+ 500
305 HHA 2SS 500 0 500
01 HA3S 500 0 500
o&mnel S oftl 500
307 212H0| & 20,000 0 20,000
02 2IZtAMEE 20,000 0 20,000
O=HYHIHXXAME X 20,000
HHSHAHI (KX ZHD)(JIEH/IIE) 154,496 63,455 91,041
= 23,469
=S 131,027
ol 2| 83,49 3,600 79,89
= 23,469
== 60,027

S2¥ o2dl X& 60,027 3,600 56,427

101 Q124 60,027 0 60,027

-269-



SA:
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cel:

XX & 21
H2LAHI (XX Z D) (J1EH/IIE

SH

reo

=2

(et )

60,027

02 JIEHE 2 4 60,027
OLEHARVE ARRH 60,027
oJlz8 4,280,008 +12» 128 51,360
o=y 480
-HH Xt 40,0002« 1%+ 128 480
OFUZ AL 130,0008 %12 *128 1,560
O1 b2 &t 4,280,000+86%+1/30+ 102 1,227
OxZg2=H| 400,000 124122 4,800
ouelgsH| 50,0008 «12» 128 600
OlALT YNV (2D) 23,469 0 23,469
= 23,469
101 @124t 23,469 0 23,469
= 23,469
03 RIIHA2E A4 23,469 0 23,469
ooAYSZ =Y 23,469
OJlzg 41,0009 +2612+1 10,701
= 10,701
O&0i3 10,701,000 1/12+48] 3,567
= 3,567
oRasY+y 41,0002 522 12 2,132
= 2,132
SINEELES=
8, 7251 * 150%+<20A] 24+ 1281+ 12 3,141
= 3,141
ORI ENSEY 69,8012+ 1520413 1,048
=2 1,048
O = EIH| 300, 0002 #23] 600
=2 600
O] 130,0009 * 128 12 1,560
= 1,560
OnEH| 60,0008+ 128 * 1% 720
= 720
=23l 71,000 59,855 11,145
SN2y Jl=Z 71,000 59,855 11,145
201 Yer2 | 54,000 41,735 12,265
01 At 22/t 54,000 41,735 12,265
ORN2Y AIRB2IHI 54,000
202 OfHl 17,000 13,920 3,080
01 =LHOiHI 17,000 13,920 3,080
ORNEY 2ol 17,000

-270-






